Factoring Trigonometric Expressions:

Factor each of the following expressions.
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Solving Triconometric Equations (no calculat r)

For the following examples, give answers in radians
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Solving Trig Equations without the Unit Circle

Solve each trigonometric equation. Give answers in degrees.

Example: Find all solutions for x.
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- Solve each trigonometric equation:
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" Solving Trigonometric Equations

Find all solutions for 8: 2sin%0 — sin@ -3 =0
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Does the given x-value represent a solution to the
given trigonometric equation? Answer yes or no.
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Solving Trigonometric Equations:
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